

ON SOME PROPERTIES OF PARTICULAR TETRANACCI SEQUENCES

Seyyed Hossein Jafari Petroudi, Maryam Pirouz,
and Arzu Özkoç Öztürk

ABSTRACT. In this paper, a particular Tetranacci sequence, namely Pell-Padovan Tetranacci sequence is introduced. The Binet-like-formula, partial sum, generating function related to this sequence are represented. Some identities and examples about this sequence are stated by using the matrix form. Also norms, determinants and eigenvalues of the circulant matrices for the Pell-Padovan Tetranacci sequence are obtained.

1. Introduction

Many authors investigated recurrence relations like as Fibonacci numbers, Pell sequence, Padovan sequence, Tribonacci sequence, Tetraonacci sequence and generalizations of these sequences. They established numerous results and identities about these sequences. Also they illustrated various applications of these sequences. To learn more about Pell sequence, Padovan sequence, Tetranacci sequences and generalizations of these sequences and applications of these sequences we refer to [1, 2, 3, 5, 8, 9, 10, 15, 17, 18].

Fibonacci numbers are a sequence which are defined by the following recurrence relation:

$$F_0 = 0, F_1 = 1 \text{ and } F_n = F_{n-1} + F_{n-2} \text{ for all } n \geq 2.$$

The first Fibonacci numbers are

$$0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, 144, 233, \dots$$

2010 *Mathematics Subject Classification.* 11B83, 11B37, 15A18, 11C20.

Key words and phrases. Tetranacci Sequence, Generating Function, Binet Formula.

Communicated by Daniel A. Romano.

The characteristic equation of F_n is $x^2 - x - 1 = 0$ and hence the roots of it are $\alpha = \frac{1+\sqrt{5}}{2}$ and $\beta = \frac{1-\sqrt{5}}{2}$. Also Binet's formula for the sequence is $F_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}$ for $n \geq 0$. Lucas numbers L_n are defined by $L_0 = 2, L_1 = 1$ and $L_n = L_{n-1} + L_{n-2}$ for $n \geq 2$. The first Lucas numbers are

$$2, 1, 3, 4, 7, 11, 18, 29, 47, 76, \dots \text{ ([11])}.$$

Pell sequence P_n is defined by the recursive relation

$$P_n = 2P_{n-1} + P_{n-2}$$

for all $n \geq 2$ with the initial values $P_0 = 0, P_1 = 1$. In [12], the Padovan sequence R_n is defined by the recursion relation

$$R_{n+2} = R_n + R_{n-1}$$

for all $n \geq 3$ with initial values $R_0 = 1, R_1 = 1, R_2 = 1$.

In [12, 13], the Pell–Padovan sequence $P(n)$ is defined by a third-order recurrence equation

$$P(n+3) = 2P(n+1) + P(n)$$

for $n \geq 0$, where $P(0) = P(1) = P(2) = 1$.

In [7] author defined a new integer sequence related to Fibonacci and Pell sequences with four parameters

$$W_n = 3W_{n-1} - 3W_{n-3} - W_{n-4} \text{ for } n \geq 4$$

with initial values $W_0 = W_1 = 0, W_2 = 1, W_3 = 3$ and then derive some algebraic identities on it. In [16], the authors considered the integer sequence with four parameters and introduced the concept of a fourth-order recurrence relations and established some identities for these sequence.

Let $A = (a_{ij})$ be an $n \times n$ matrix. The circulant matrix formed a square matrix

$$C(A) = \begin{bmatrix} a_{11} & a_{12} & a_{13} & \cdots & a_{1n} \\ a_{21} & a_{22} & a_{23} & \cdots & a_{2n} \\ \cdot & \cdot & \cdot & \cdots & \cdot \\ \cdot & \cdot & \cdot & \cdots & \cdot \\ a_{n1} & a_{n2} & a_{n3} & \cdots & a_{nn} \end{bmatrix}.$$

The eigenvalues of A are

$$(1.1) \quad \lambda_j(A) = \sum_{k=0}^{n-1} a_k w^{-jk},$$

where $w = e^{\frac{2\pi i}{n}}$, $i = \sqrt{-1}$ and $j = 0, 1, \dots, n-1$. The spectral norm for a matrix $A = [a_{ij}]_{n \times m}$ is defined to be $\|A\|_{spec} = \max\{\sqrt{\lambda_i}\}$, where λ_i are the eigenvalues of $A^H A$ for $0 \leq j \leq n-1$ and A^H denotes the conjugate transpose of A .

2. Particular Tetranacci Sequences

DEFINITION 2.1. We define the Pell-Padovan Tetranacci sequence (PT_n) by the recursive relation

$$(2.1) \quad PT_{n+4} = PT_{n+2} + 2PT_{n+1} + PT_n$$

with initial values $PT_0 = 0$, $PT_1 = 1$, $PT_2 = 1$, $PT_3 = 1$.

Hence the first few values of Pell-Padovan Tetranacci sequence are:

$$0, 1, 1, 1, 3, 4, 6, 11, 17, 27, 45, 72, 116.$$

REMARK 2.1. Pell-Padovan Tetranacci sequence (PT_n) has the characteristic equation $x^4 - x^2 - 2x - 1 = 0$. By factorization of this polynomial we see that

$$x^4 - x^2 - 2x - 1 = (x^2 - x - 1)(x^2 + x + 1).$$

Therefore by solving the characteristic equation of this sequence we get that this equation has two real roots α, β and two complex roots γ, λ which are

$$\alpha = (1 + \sqrt{5})/2, \quad \beta = (1 - \sqrt{5})/2, \quad \gamma = -(1 - i\sqrt{3})/2, \quad \lambda = -(1 + i\sqrt{3})/2$$

where $i = \sqrt{-1}$.

THEOREM 2.1. *The generating function for the Pell-Padovan Tetranacci sequence (PT_n) is*

$$\sum_{n=0}^{\infty} PT_n x^n = (x + x^2)/(1 - x^2 - 2x^3 - x^4).$$

PROOF. Suppose that the generating function for the Pell-Padovan Tetranacci sequence (PT_n) has the form

$$g(x) = \sum_{n=0}^{\infty} PT_n x^n = PT_0 + PT_1 x + PT_2 x^2 + PT_3 x^3 + \dots + PT_n x^n + \dots$$

Then we have

$$\begin{aligned} x^2 g(x) &= PT_0 x^2 + PT_1 x^3 + PT_2 x^4 + PT_3 x^5 + \dots + PT_n x^{n+2} + \dots \\ 2x^3 g(x) &= 2PT_0 x^3 + 2PT_1 x^4 + 2PT_2 x^5 + 2PT_3 x^6 + \dots + 2PT_n x^{n+3} + \dots \end{aligned}$$

and

$$x^4 g(x) = PT_0 x^4 + PT_1 x^5 + PT_2 x^6 + PT_3 x^7 + \dots + PT_n x^{n+4} + \dots$$

Thus we obtain

$$\begin{aligned}
& g(x) - x^2g(x) - 2x^3g(x) - x^4g(x) \\
&= (PT_0 + PT_1x + PT_2x^2 + PT_3x^3 + \cdots + PT_nx^n + \cdots) \\
&\quad - (PT_0x^2 + PT_1x^3 + PT_2x^4 + PT_3x^5 + \cdots + PT_nx^{n+2} + \cdots) \\
&\quad - (2PT_0x^3 + 2PT_1x^4 + 2PT_2x^5 + 2PT_3x^6 + \cdots + 2PT_nx^{n+4} + \cdots) \\
&\quad - (PT_0x^4 + PT_1x^5 + PT_2x^6 + PT_3x^7 + \cdots + PT_nx^{n+4} + \cdots) \\
&= PT_0 + PT_1x + (PT_2 - PT_0)x^2 + (PT_3 - PT_1 - 2PT_0)x^3 \\
&\quad + (PT_4 - PT_2 - 2PT_1 - PT_0)x^4 + \cdots \\
&\quad + (PT_n - PT_{n-2} - 2PT_{n-3} - PT_{n-4})x^n + \cdots.
\end{aligned}$$

Therefore we get

$$g(x)(1 - x^2 - 2x^3 - x^4) = 0 + x + (1 - 0)x^2 + (1 - 1 - 0)x^3 + 0 + \cdots + 0 = x + x^2.$$

Consequently

$$\sum_{n=0}^{\infty} PT_n x^n = (x + x^2)/(1 - x^2 - 2x^3 - x^4).$$

□

THEOREM 2.2. *Let $n \geq 0$ be an integer. Then the Binet-like formula for the Pell-Padovan Tetranacci sequence (PT_n) is*

$$\begin{aligned}
PT_n &= \left(\frac{\alpha + 1}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} \right) \alpha^{n+1} + \left(\frac{\beta + 1}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} \right) \beta^{n+1} \\
&\quad + \left(\frac{\gamma + 1}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} \right) \gamma^{n+1} + \left(\frac{\lambda + 1}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} \right) \lambda^{n+1}
\end{aligned}$$

where $\alpha, \beta, \gamma, \lambda$ are the roots of the equation $x^4 - x^2 - 2x - 1 = 0$.

PROOF. From Remark 2.1 we see that the equation

$$f(x) = x^4 - x^2 - 2x - 1 = 0$$

has four distinct roots $\alpha, \beta, \gamma, \lambda$. Hence $\frac{1}{\alpha}, \frac{1}{\beta}, \frac{1}{\gamma}, \frac{1}{\lambda}$ are the roots of

$$h(x) = f(1/x) = 1 - x^2 - 2x^3 - x^4.$$

In exact, we have

$$h(x) = 1 - x^2 - 2x^3 - x^4 = (1 - \alpha x)(1 - \beta x)(1 - \gamma x)(1 - \lambda x).$$

According to the generating function of Pell-Padovan Tetranacci sequence, we have

$$\begin{aligned}
(2.2) \quad g(x) &= \frac{x + x^2}{1 - x^2 - 2x^3 - x^4} = \frac{A}{1 - \alpha x} + \frac{B}{1 - \beta x} + \frac{C}{1 - \gamma x} + \frac{D}{1 - \lambda x} \\
&= A \sum_{n=0}^{\infty} (\alpha x)^n + B \sum_{n=0}^{\infty} (\beta x)^n + C \sum_{n=0}^{\infty} (\gamma x)^n + D \sum_{n=0}^{\infty} (\lambda x)^n.
\end{aligned}$$

Thus, we have

$$\begin{aligned} g(x) &= \frac{x + x^2}{1 - x^2 - 2x^3 - x^4} \\ &= \frac{\left\{ \begin{array}{l} A(1 - \beta x)(1 - \gamma x)(1 - \lambda x) + B(1 - \alpha x)(1 - \gamma x)(1 - \lambda x) \\ + C(1 - \alpha x)(1 - \beta x)(1 - \lambda x) + D(1 - \alpha x)(1 - \beta x)(1 - \lambda x) \end{array} \right\}}{(1 - \alpha x)(1 - \beta x)(1 - \gamma x)}. \end{aligned}$$

Therefore, by comparison of the left and right sides of this equality we get that

$$x + x^2 = \left\{ \begin{array}{l} A(1 - \beta x)(1 - \gamma x)(1 - \lambda x) + B(1 - \alpha x)(1 - \gamma x)(1 - \lambda x) \\ + C(1 - \alpha x)(1 - \beta x)(1 - \lambda x) + D(1 - \alpha x)(1 - \beta x)(1 - \gamma x) \end{array} \right\}.$$

If we substitute x by $1/\alpha$ we find that

$$\frac{1}{\alpha} + \frac{1}{\alpha^2} = A \left(1 - \frac{\beta}{\alpha}\right) \left(1 - \frac{\gamma}{\alpha}\right) \left(1 - \frac{\lambda}{\alpha}\right).$$

Consequently, we get

$$A = \frac{\alpha(\alpha + 1)}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)}$$

and similarly we get

$$B = \frac{\beta(\beta + 1)}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)}, \quad C = \frac{\gamma(\gamma + 1)}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)},$$

and

$$D = \frac{\lambda(\lambda + 1)}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)}.$$

By (2.2) we obtain that

$$\begin{aligned} g(x) &= \sum_{n=0}^{\infty} \frac{\alpha(\alpha + 1)}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} (\alpha x)^n + \sum_{n=0}^{\infty} \frac{\beta(\beta + 1)}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} (\beta x)^n \\ &\quad + \sum_{n=0}^{\infty} \frac{\gamma(\gamma + 1)}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} (\gamma x)^n + \sum_{n=0}^{\infty} \frac{\lambda(\lambda + 1)}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} (\lambda x)^n \\ &= \sum_{n=0}^{\infty} \left[\frac{\alpha(\alpha + 1)\alpha^n}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} + \frac{\beta(\beta + 1)\beta^n}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} \right. \\ &\quad \left. + \frac{\gamma(\gamma + 1)\gamma^n}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} + \frac{\lambda(\lambda + 1)\lambda^n}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} \right] x^n. \end{aligned}$$

Consequently we obtain

$$\begin{aligned} PT_n &= \left(\frac{\alpha + 1}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} \right) \alpha^{n+1} + \left(\frac{\beta + 1}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} \right) \beta^{n+1} \\ &\quad + \left(\frac{\gamma + 1}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} \right) \gamma^{n+1} + \left(\frac{\lambda + 1}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} \right) \lambda^{n+1}. \end{aligned}$$

□

THEOREM 2.3. *Let $n \geq 0$ be an integer. Then*

$$\begin{aligned}
 PT_{n+1} + PT_n &= \\
 &\left(\frac{(\alpha + 1)^2}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} \right) \alpha^{n+1} + \left(\frac{(\beta + 1)^2}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} \right) \beta^{n+1} \\
 &+ \left(\frac{(\gamma + 1)^2}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} \right) \gamma^{n+1} + \left(\frac{(\lambda + 1)^2}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} \right) \lambda^{n+1}, \\
 PT_{n+1} - PT_n &= \\
 &\left(\frac{\alpha^2 - 1}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} \right) \alpha^{n+1} + \left(\frac{\beta^2 - 1}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} \right) \beta^{n+1} \\
 &+ \left(\frac{\gamma^2 - 1}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} \right) \gamma^{n+1} + \left(\frac{\lambda^2 - 1}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} \right) \lambda^{n+1}.
 \end{aligned}$$

PROOF. They can be proved by direct calculations from Theorem 2.2. \square

THEOREM 2.4. *Let $n \geq 0$ be an integer and k be an arbitrary integer. Then*

$$\begin{aligned}
 PT_{n+k} + PT_{n-k} &= \\
 &\left(\frac{(\alpha + 1)(\alpha^{2k} + 1)}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} \right) \alpha^{n-k+1} + \left(\frac{(\beta + 1)(\beta^{2k} + 1)}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} \right) \beta^{n-k+1} \\
 &+ \left(\frac{(\gamma + 1)(\gamma^{2k} + 1)}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} \right) \gamma^{n-k+1} + \left(\frac{(\lambda + 1)(\lambda^{2k} + 1)}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} \right) \lambda^{n-k+1}, \\
 PT_{n+k} - PT_{n-k} &= \\
 &\left(\frac{(\alpha + 1)(\alpha^{2k} - 1)}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} \right) \alpha^{n-k+1} + \left(\frac{(\beta + 1)(\beta^{2k} - 1)}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} \right) \beta^{n-k+1} \\
 &+ \left(\frac{(\gamma + 1)(\gamma^{2k} - 1)}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} \right) \gamma^{n-k+1} + \left(\frac{(\lambda + 1)(\lambda^{2k} - 1)}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} \right) \lambda^{n-k+1}.
 \end{aligned}$$

PROOF. They can be proved by direct calculations from Theorem 2.2. \square

COROLLARY 2.1. *From Theorem 2.4 for $k = 1$, we have*

$$\begin{aligned}
 PT_{n+1} + PT_{n-1} &= \\
 &\left(\frac{(\alpha + 1)(\alpha^2 + 1)}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} \right) \alpha^n + \left(\frac{(\beta + 1)(\beta^2 + 1)}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} \right) \beta^n \\
 &+ \left(\frac{(\gamma + 1)(\gamma^2 + 1)}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} \right) \gamma^n + \left(\frac{(\lambda + 1)(\lambda^2 + 1)}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} \right) \lambda^n,
 \end{aligned}$$

$$\begin{aligned}
 PT_{n+1} - PT_{n-1} = & \\
 & \left(\frac{(\alpha + 1)^2(\alpha - 1)}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)} \right) \alpha^n + \left(\frac{(\beta + 1)^2(\beta - 1)}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)} \right) \beta^n \\
 & + \left(\frac{(\gamma + 1)^2(\gamma - 1)}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)} \right) \gamma^n + \left(\frac{(\lambda + 1)^2(\lambda - 1)}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)} \right) \lambda^n.
 \end{aligned}$$

LEMMA 2.1. *Let $k \geq 0$ be an integer. Then*

$$\sum_{k=0}^n PT_k = \frac{1}{3} (PT_{k+4} + PT_{k+3} - 2PT_{k+1} - 2).$$

PROOF. From the definition of Pell-Padovan Tetranacci sequence we now that $PT_k = PT_{k+4} - PT_{k+2} - 2PT_{k+1}$. Thus we have

$$\begin{aligned}
 PT_0 &= PT_4 - PT_2 - 2PT_1 \\
 PT_1 &= PT_5 - PT_3 - 2PT_2 \\
 PT_2 &= PT_6 - PT_4 - 2PT_3 \\
 &\vdots \\
 PT_{k-2} &= PT_{k+2} - PT_k - 2PT_{k-1} \\
 PT_{k-1} &= PT_{k+3} - PT_{k+1} - 2PT_k \\
 PT_k &= PT_{k+4} - PT_{k+2} - 2PT_{k+1}.
 \end{aligned}$$

Therefore, we get

$$\sum_{k=0}^n PT_k = -PT_2 - PT_3 + PT_{k+4} + PT_{k+3} - 2PT_{k+1} - 2 \sum_{k=0}^n PT_k.$$

Thus, we have

$$3 \sum_{k=0}^n PT_k = -1 - 1 + PT_{k+4} + PT_{k+3} - 2PT_{k+1}.$$

Consequently, we get

$$\sum_{k=0}^n PT_k = \frac{1}{3} (PT_{k+4} + PT_{k+3} - 2PT_{k+1} - 2).$$

□

3. Special Matrices on Pell-Padovan Tetranacci Sequence

There are two subsections in this section, one of which consists of algebraic results obtained with the help of matrices. In the other subsection, circulant matrices are created for Pell-Padovan Tetranacci sequence and the eigenvalues and norms of this matrix are examined.

3.1. More identities about Pell-Padovan Tetranacci sequence.

THEOREM 3.1. Let $n \geq 0$ be an integer and $M = \begin{bmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 1 & 2 & 1 & 0 \end{bmatrix}$. Then

$$\begin{bmatrix} PT_n \\ PT_{n+1} \\ PT_{n+2} \\ PT_{n+3} \end{bmatrix} = \begin{bmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 1 & 2 & 1 & 0 \end{bmatrix}^n \begin{bmatrix} 0 \\ 1 \\ 1 \\ 1 \end{bmatrix} = M^n \begin{bmatrix} 0 \\ 1 \\ 1 \\ 1 \end{bmatrix}.$$

PROOF. We prove this theorem by mathematical induction on n . For $n = 1$ we have

$$M^1 \begin{bmatrix} 0 \\ 1 \\ 1 \\ 1 \end{bmatrix} = \begin{bmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 1 & 2 & 1 & 0 \end{bmatrix}^1 \begin{bmatrix} 0 \\ 1 \\ 1 \\ 1 \end{bmatrix} = \begin{bmatrix} 1 \\ 1 \\ 1 \\ 3 \end{bmatrix} = M \begin{bmatrix} PT_1 \\ PT_2 \\ PT_3 \\ PT_4 \end{bmatrix}.$$

Thus the result is true for $n = 1$. Now suppose that the result is true for $n = k$. Hence we have

$$\begin{bmatrix} PT_k \\ PT_{k+1} \\ PT_{k+2} \\ PT_{k+3} \end{bmatrix} = \begin{bmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 1 & 2 & 1 & 0 \end{bmatrix}^k \begin{bmatrix} 0 \\ 1 \\ 1 \\ 1 \end{bmatrix} = M^k \begin{bmatrix} 0 \\ 1 \\ 1 \\ 1 \end{bmatrix}.$$

Then for $n = k + 1$ we have

$$\begin{aligned} M^{k+1} \begin{bmatrix} 0 \\ 1 \\ 1 \\ 1 \end{bmatrix} &= M M^k \begin{bmatrix} 0 \\ 1 \\ 1 \\ 1 \end{bmatrix} = M \begin{bmatrix} PT_k \\ PT_{k+1} \\ PT_{k+2} \\ PT_{k+3} \end{bmatrix} = \begin{bmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 1 & 2 & 1 & 0 \end{bmatrix} \begin{bmatrix} PT_k \\ PT_{k+1} \\ PT_{k+2} \\ PT_{k+3} \end{bmatrix} \\ &= \begin{bmatrix} PT_{k+1} \\ PT_{k+2} \\ PT_{k+3} \\ PT_k + 2PT_{k+1} + PT_{k+2} \end{bmatrix} = \begin{bmatrix} PT_{k+1} \\ PT_{k+2} \\ PT_{k+3} \\ PT_{k+4} \end{bmatrix}. \end{aligned}$$

Therefore, the result is true for $n = k + 1$. Consequently, by induction the result is true for every n . This proves the theorem. \square

REMARK 3.1. As we know the characteristic polynomial of the recursive relation

$$PT_{n+4} = PT_{n+2} + 2PT_{n+1} + PT_n \quad \text{is} \quad p(x) = x^4 - x^2 - 2x - 1 = 0.$$

This polynomial can be written as

$$p(x) = \det(xI - M) = 0$$

where

$$I = \begin{bmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{bmatrix} \text{ and } M = \begin{bmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 1 & 2 & 1 & 0 \end{bmatrix}.$$

From the Cayley Hamilton Theorem in matrix algebra (Theorem 3.9 in [19]), we have $p(M) = 0$. Thus we obtain

$$(3.1) \quad M^4 - M^2 - 2M - I = 0.$$

THEOREM 3.2. *Let $M = \begin{bmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 1 & 2 & 1 & 0 \end{bmatrix}$. Then*

$$I = M^4 - M^2 - 2M = M^4 + 2M^3 + 3M^2 - 2M^5$$

and

$$M^n = M^{n+4} + 2M^{n+3} + 3M^{n+2} - 2M^{n+5}.$$

PROOF. According to the Remark 3.1, we have

$$\begin{aligned} I &= M^4 - M^2 - 2M = M(M^3 - M - 2I) = M(M^3 - M - 2(M^4 - M^2 - 2M)) \\ &= M(M^3 + 2M^2 + 3M - 2M^4) = M^4 + 2M^3 + 3M^2 - 2M^5. \end{aligned}$$

Thus

$$I = M^4 + 2M^3 + 3M^2 - 2M^5.$$

This proves the first equality. Multiplying both sides of the above equality by M^n we obtain

$$(3.2) \quad M^n = M^{n+4} + 2M^{n+3} + 3M^{n+2} - 2M^{n+5}.$$

Thus the proof is completed. □

COROLLARY 3.1. *Let $n \geq 0$ be an integer. Then*

$$(3.3) \quad M^{n+5} = \frac{1}{2} (M^{n+4} + 2M^{n+3} + 3M^{n+2} - M^n).$$

According to this corollary, we have the following interesting example and theorem about the Pell-Padovan Tetranacci sequence.

EXAMPLE 3.1. From the first values of Pell-Padovan Tetranacci sequence we have

$$6 = \frac{1}{2} (4 + 2(3) + 3(1) - 1).$$

In exact, we have

$$PT_6 = \frac{1}{2} (PT_5 + 2PT_4 + 3PT_3 - PT_1)$$

or

$$PT_{1+5} = \frac{1}{2} (PT_{1+4} + 2PT_{1+3} + 3PT_{1+2} - PT_1).$$

THEOREM 3.3. *Let $n \geq 0$ be an integer. Then*

$$PT_{n+5} = \frac{1}{2}(PT_{n+4} + 2PT_{n+3} + 3PT_{n+2} - PT_n).$$

PROOF. We prove this theorem by mathematical induction on n . According to the last example we see that

$$PT_{1+5} = \frac{1}{2}(PT_{1+4} + 2PT_{1+3} + 3PT_{1+2} - PT_1).$$

Then if we assume that $PT_{t+5} = \frac{1}{2}(PT_{t+4} + 2PT_{t+3} + 3PT_{t+2} - PT_t)$ for all $t < n$. Then we have

$$\begin{aligned} PT_{n+5} &= PT_{n+3} + 2PT_{n+2} + PT_{n+1} \\ &= \frac{1}{2}(PT_{n+2} + 2PT_{n+1} + 3PT_n - PT_{n-2}) \\ &\quad + 2 \left[\frac{1}{2}(PT_{n+1} + 2PT_n + 3PT_{n-1} - PT_{n-3}) \right] \\ &\quad + \frac{1}{2}(PT_n + 2PT_{n-1} + 3PT_{n-2} - PT_{n-4}) \\ &= \frac{1}{2}[(PT_{n+2} + 2PT_{n+1} + PT_n) + 2(PT_{n+1} + 2PT_n + PT_{n-1}) \\ &\quad + 3(PT_n + 2PT_{n-1} + PT_{n-2}) - (PT_{n-2} + 2PT_{n-3} + PT_{n-4})] \\ &= \frac{1}{2}(PT_{n+4} + 2PT_{n+3} + 3PT_{n+2} - PT_n). \end{aligned}$$

Thus, the result is true for negative n . □

THEOREM 3.4. *Let $r, n \geq 0$ be integer. Then*

$$M^{n+r} = 4M^{n+r+10} - 4M^{n+r+9} - 7M^{n+r+8} - 8M^{n+r+7} + 10M^{n+r+6} + 12M^{n+r+5} + 9M^{n+r+4}$$

PROOF. By Theorem 3.2 we have

$$M^n = M^{n+4} + 2M^{n+3} + 3M^{n+2} - 2M^{n+5}.$$

Hence

$$\begin{aligned} M^{n+r} &= M^n M^r \\ &= (M^{n+4} + 2M^{n+3} + 3M^{n+2} - 2M^{n+5})(M^{r+4} + 2M^{r+3} + 3M^{r+2} - 2M^{r+5}) \\ &= M^{n+r+8} + 2M^{n+r+7} + 3M^{n+r+6} - 2M^{n+r+9} + 2M^{n+r+7} + 4M^{n+r+6} \\ &\quad + 6M^{n+r+5} - 4M^{n+r+8} + 3M^{n+r+6} + 6M^{n+r+5} + 9M^{n+r+4} - 6M^{n+r+7} \\ &\quad - 2M^{n+r+9} - 4M^{n+r+8} - 6M^{n+r+7} + 4M^{n+r+10} \\ &= 4M^{n+r+10} - 4M^{n+r+9} - 7M^{n+r+8} - 8M^{n+r+7} + 10M^{n+r+6} + 12M^{n+r+5} \\ &\quad + 9M^{n+r+4}. \end{aligned}$$

Thus, the proof is completed. □

COROLLARY 3.2. *Let $n \geq 0$ be an integer. Then*

$$M^{2n} = 4M^{2n+10} - 4M^{2n+9} - 7M^{2n+8} - 8M^{2n+7} + 10M^{2n+6} + 12M^{2n+5} + 9M^{2n+4},$$

$$M^{2n+9} = \frac{1}{4} [4M^{2n+10} - 7M^{2n+8} - 8M^{2n+7} + 10M^{2n+6} + 12M^{2n+5} + 9M^{2n+4} - M^{2n}].$$

PROOF. They can be derived from Theorem 3.4 by substituting $r = n$. □

EXAMPLE 3.2. From the first values of Pell-Padovan Tetranacci sequence PT_n we have

$$72 = \frac{1}{4} [9(16) + 12(11) + 10(17) - 8(27) - 7(45) + 4(116) - 1].$$

In exact, we have

$$PT_{11} = \frac{1}{4} [9PT_6 + 12PT_7 + 10PT_8 - 8PT_9 - 7PT_{10} + 4PT_{12} - PT_1]$$

or equivalently we have

$$PT_{2 \times 1 + 9} = \frac{1}{4} [9PT_{2 \times 1 + 4} + 12PT_{2 \times 1 + 5} + 10PT_{2 \times 1 + 6} - 8PT_{2 \times 1 + 7} - 7PT_{2 \times 1 + 8} + 4PT_{2 \times 1 + 10} - PT_{2 \times 1}].$$

THEOREM 3.5. *Let $n \geq 0$ be an integer. Then*

$$PT_{2n+9} = \frac{1}{4} [9PT_{2n+4} + 12PT_{2n+5} + 10PT_{2n+6} - 8PT_{2n+7} - 7PT_{2n+8} + 4PT_{2n+10} - PT_{2n}].$$

PROOF. It can be proved similar to Theorem 3.4. □

3.2. Circulant matrices via Pell-Padovan Tetranacci sequence. We define circulant matrix

$$PT = C(PT_n) = \begin{bmatrix} PT_0 & PT_1 & PT_2 & \cdots & PT_{n-1} \\ PT_{n-1} & PT_0 & PT_1 & \cdots & PT_{n-2} \\ PT_{n-2} & PT_{n-1} & PT_0 & \cdots & PT_{n-3} \\ \vdots & \vdots & \vdots & \cdots & \vdots \\ \vdots & \vdots & \vdots & \cdots & \vdots \\ PT_1 & PT_2 & PT_3 & \cdots & PT_0 \end{bmatrix}$$

for PT_n .

The equations we will use in the following theorems are given.

$$P = \frac{\alpha + 1}{(\alpha - \beta)(\alpha - \gamma)(\alpha - \lambda)}, \quad Q = \frac{\beta + 1}{(\beta - \alpha)(\beta - \gamma)(\beta - \lambda)},$$

$$R = \frac{\gamma + 1}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)}, \quad S = \frac{\lambda + 1}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \gamma)},$$

$$\begin{aligned}
a &= -PT_n + P\alpha + Q\beta + R\gamma + S\lambda \\
b &= -P(\alpha + 1)(1 - \alpha^n) - Q(1 - \beta^n)(\beta + 1) \\
&\quad - R(\gamma + 1)(\gamma^n - 1) - S(\lambda + 1)(\lambda^n - 1) \\
c &= -PT_n + P\alpha + Q\beta - R\gamma - S\lambda \\
d &= PT_{n-1} - P - Q - R - S.
\end{aligned}$$

THEOREM 3.6. Let PT denote the circulant matrices of (PT_n) . The eigenvalues of PT are

$$\lambda_j(PT) = \frac{dw^{-3j} + cw^{-2j} + bw^{-j} + a}{-w^{-4j} - 2w^{-3j} - w^{-2j} + 1}$$

for $j = 0, 1, 2, \dots, n-1$.

PROOF. For the sequence (PT_n) , we have

$$\begin{aligned}
\lambda_j(C(PT_n)) &= \sum_{k=0}^{n-1} PT_k w^{-jk} \\
&= \sum_{k=0}^{n-1} [P\alpha^{k+1} + Q\beta^{k+1} + R\gamma^{k+1} + S\lambda^{k+1}] w^{-jk} \\
&= P\alpha \left(\frac{(\alpha w^{-j})^n - 1}{(\alpha w^{-j}) - 1} \right) + Q\beta \left(\frac{(\beta w^{-j})^n - 1}{(\beta w^{-j}) - 1} \right) \\
&\quad + R\gamma \left(\frac{(\gamma w^{-j})^n - 1}{(\gamma w^{-j}) - 1} \right) + S\lambda \left(\frac{(\lambda w^{-j})^n - 1}{(\lambda w^{-j}) - 1} \right).
\end{aligned}$$

We know about

$$(\alpha w^{-j})^n = \alpha^n, \quad (\beta w^{-j})^n = \beta^n, \quad (\gamma w^{-j})^n = \gamma^n, \quad (\lambda w^{-j})^n = \lambda^n,$$

then the equation

$$\lambda_j(C(PT_n)) = \frac{\left\{ \begin{array}{l} P\alpha(\alpha^n - 1)(\beta w^{-j} - 1)(\gamma w^{-j} - 1)(\lambda w^{-j} - 1) \\ + Q\beta(\beta^n - 1)(\alpha w^{-j} - 1)(\lambda w^{-j} - 1)(\gamma w^{-j} - 1) \\ + R\gamma(\gamma^n - 1)(\alpha w^{-j} - 1)(\lambda w^{-j} - 1)(\beta w^{-j} - 1) \\ + S\lambda(\lambda^n - 1)(\alpha w^{-j} - 1)(\gamma w^{-j} - 1)(\beta w^{-j} - 1) \end{array} \right\}}{(\alpha w^{-j} - 1)(\beta w^{-j} - 1)(\gamma w^{-j} - 1)(\lambda w^{-j} - 1)}.$$

We found the numerator

$$\begin{aligned}
&\left\{ \begin{array}{l} P\alpha(\alpha^n - 1)(\beta\gamma\lambda) + Q\beta(\beta^n - 1)(\alpha\gamma\lambda) \\ + R\gamma(\gamma^n - 1)(\alpha\beta\lambda) - S\lambda(\lambda^n - 1)(\alpha\beta\gamma) \end{array} \right\} w^{-3j} \\
&+ \left\{ \begin{array}{l} P(\alpha^n - 1)(\gamma + \lambda - \alpha) + Q(\beta^n - 1)(\gamma + \lambda - \beta) \\ + R(\gamma^n - 1)(\gamma + \lambda - \beta) + S(\lambda^n - 1)(\lambda + \gamma - \beta) \end{array} \right\} w^{-2j} \\
&+ \left\{ \begin{array}{l} P(\alpha^n - 1)(-1 + \alpha\gamma + \alpha\lambda) + Q(\beta^n - 1)(-1 + \beta\gamma + \beta\lambda) \\ + R(\gamma^n - 1)(1 + \gamma\alpha + \gamma\beta) + S(\lambda^n - 1)(1 + \lambda\alpha + \lambda\beta) \end{array} \right\} w^{-j} \\
&- P\alpha(\alpha^n - 1) - Q\beta(\beta^n - 1) - R\gamma(\gamma^n - 1) - S\lambda(\lambda^n - 1)
\end{aligned}$$

and denominator

$$-w^{-4j} - 2w^{-3j} - w^{-2j} + 1$$

for $\lambda_j(C(PT_n))$. For the given values, we obtain

$$\lambda_j(C(PT_n)) = \frac{\left\{ \begin{array}{l} (-PT_{n-1} + P + Q + R + S)w^{-3j} \\ + (-PT_n + P\alpha + Q\beta - R\gamma - S\lambda)w^{-2j} \\ + \left\{ \begin{array}{l} P(\alpha + 1)(1 - \alpha^n) + Q(1 - \beta^n)(\beta + 1) \\ + R(\gamma + 1)(\gamma^n - 1) + S(\lambda + 1)(\lambda^n - 1) \end{array} \right\} w^{-j} \\ -PT_n + P\alpha + Q\beta + R\gamma + S\lambda \end{array} \right\}}{-w^{-4j} - 2w^{-3j} - w^{-2j} + 1}$$

and then

$$\lambda_j(C(PT_n)) = \frac{dw^{-3j} + cw^{-2j} + bw^{-j} + a}{-w^{-4j} - 2w^{-3j} - w^{-2j} + 1}.$$

□

Now, we deduce the determinants of the PT_n matrices.

THEOREM 3.7. *Let PT denote the circulant matrices of (PT_n) . Then the determinants are*

$$\det(C(PT_n)) = \frac{a^n - (-d)^n + 2^{1-n} \left(\frac{2ad-c}{b}\right)^n + 2^n \left(\frac{ad}{b}\right)^n + (2^{-n} - 2^{1-2n})(-b)^n}{(-1)^n(1 + 2^{1-n}) + 2^{2-n} + 2^{2-4n} + 1}.$$

PROOF. Recall that the eigenvalue of $C(PT_n)$ and Lemma 1.2 of [8], we have

$$\begin{aligned} & \det(C(PT_n)) \\ &= \prod_{j=0}^{n-1} \lambda_j(C(PT_n)) \\ &= \prod_{j=0}^{n-1} \frac{dw^{-3j} + cw^{-2j} + bw^{-j} + a}{-w^{-4j} - 2w^{-3j} - w^{-2j} + 1} \\ &= \frac{a^n - (-d)^n + 2^{1-n} \left(\frac{2ad-c}{b}\right)^n + 2^n \left(\frac{ad}{b}\right)^n + (2^{-n} - 2^{1-2n})(-b)^n}{(-1)^n(1 + 2^{1-n}) + 2^{2-n} + 2^{2-4n} + 1}. \end{aligned}$$

□

There are many articles dealing with the norms of matrices [4, 6, 14]. Let $A = (a_{ij})_{n \times n}$ be an matrix, Euclidean norm and spectral norm of the matrix A are defined as

$$\|A\|_E = \left(\sum_{i,j=1}^n |b_{ij}|^2 \right)^{1/2}$$

$$\|A\|_{spec} = \left(\max_{1 \leq i \leq n} \lambda_i(A^*A) \right)^{1/2},$$

where A^* represent the conjugate transpose of A .

THEOREM 3.8. *Let PT denote the circulant matrices of (PT_n) . Then the Euclidean norms are*

$$\|C(PT_n)\|_E = \sqrt{\left\{ \begin{array}{l} nP^2\alpha^4 \frac{1-\alpha^{2n-2}}{1-\alpha^2} + nQ^2\beta^4 \frac{1-\beta^{2n-2}}{1-\beta^2} + nR^2\gamma^4 \frac{1-\gamma^{2n-2}}{1-\gamma^2} + nS^2\delta^4 \frac{1-\lambda^{2n-2}}{1-\lambda^2} \\ + 2n \left\{ \begin{array}{l} PQ \frac{1-(\alpha\beta)^{n-1}}{1-\alpha\beta} + RS \frac{1-(\gamma\lambda)^{n-1}}{1-\gamma\lambda} \\ + PR(\alpha\gamma)^2 \frac{1-(\alpha\gamma)^{n-1}}{1-\alpha\gamma} + PS(\alpha\lambda)^2 \frac{1-(\alpha\lambda)^{n-1}}{1-\alpha\lambda} \\ + QR(\beta\gamma)^2 \frac{1-(\beta\gamma)^{n-1}}{1-\beta\gamma} + QS(\beta\lambda)^2 \frac{1-(\beta\lambda)^{n-1}}{1-\beta\lambda} \end{array} \right\} \end{array} \right\}}.$$

PROOF. From the definition of the Euclidean norm, we know

$$\|C(PT_n)\|_E^2 = n \sum_{i=0}^{n-1} PT_i^2.$$

From Binet formulas for the Pell-Padovan Tetranacci sequence, we obtain

$$\begin{aligned} \sum_{i=1}^{n-1} PT_i^2 &= \sum_{i=1}^{n-1} (P\alpha^{i+1} + Q\beta^{i+1} + R\gamma^{i+1} + S\lambda^{i+1})^2 \\ &= P^2 \sum_{i=1}^{n-1} \alpha^{2(i+1)} + Q^2 \sum_{i=1}^{n-1} \beta^{2(i+1)} + R^2 \sum_{i=1}^{n-1} \gamma^{2(i+1)} + S^2 \sum_{i=1}^{n-1} \lambda^{2(i+1)} \\ &\quad + 2PQ \sum_{i=1}^{n-1} (\alpha\beta)^{(i+1)} + 2RS \sum_{i=1}^{n-1} (\gamma\lambda)^{(i+1)} + 2PR \sum_{i=1}^{n-1} (\alpha\gamma)^{(i+1)} \\ &\quad + 2PS \sum_{i=1}^{n-1} (\alpha\lambda)^{(i+1)} + 2QR \sum_{i=1}^{n-1} (\beta\gamma)^{(i+1)} + 2QS \sum_{i=1}^{n-1} (\beta\lambda)^{(i+1)}. \end{aligned}$$

We know $\sum_{s=1}^n i^s = \frac{i-i^{n+1}}{1-i}$, hence

$$\begin{aligned} \sum_{i=1}^{n-1} PT_i^2 &= P^2\alpha^4 \frac{1-\alpha^{2n-2}}{1-\alpha^2} + Q^2\beta^4 \frac{1-\beta^{2n-2}}{1-\beta^2} + R^2\gamma^4 \frac{1-\gamma^{2n-2}}{1-\gamma^2} + S^2\delta^4 \frac{1-\lambda^{2n-2}}{1-\lambda^2} \\ &\quad + 2 \left(\begin{array}{l} PQ \frac{1-(\alpha\beta)^{n-1}}{1-\alpha\beta} + RS \frac{1-(\gamma\lambda)^{n-1}}{1-\gamma\lambda} + PR(\alpha\gamma)^2 \frac{1-(\alpha\gamma)^{n-1}}{1-\alpha\gamma} \\ + PS(\alpha\lambda)^2 \frac{1-(\alpha\lambda)^{n-1}}{1-\alpha\lambda} + QR(\beta\gamma)^2 \frac{1-(\beta\gamma)^{n-1}}{1-\beta\gamma} + QS(\beta\lambda)^2 \frac{1-(\beta\lambda)^{n-1}}{1-\beta\lambda} \end{array} \right). \end{aligned}$$

So we get the result

$$\|C(PT_n)\|_E^2 = n \left(\sum_{i=1}^{n-1} PT_i^2 + PT_0^2 \right) = n \sum_{i=1}^{n-1} PT_i^2.$$

□

The spectral norm of PT_n is given by the following theorem which can be proved by induction on n .

THEOREM 3.9. Let PT denote the circulant matrices of (PT_n) . The spectral norm of PT is

$$\|PT\|_{spec} = \frac{1}{3}(PT_{n+4} + PT_{n+3} - 2PT_{n+1} - 2)$$

for $n \geq 4$.

PROOF. For the matrix $C(PT_n)$, its spectral radius $\rho(C(PT_n))$ is obtained from the following inequality,

$$\min_{1 \leq i \leq n} \sum_{j=1}^n a_{ij} \leq \rho(C(PT_n)) \leq \max_{1 \leq i \leq n} \sum_{j=1}^n a_{ij}$$

then

$$\sum_{j=1}^n a_{ij} = \sum_{l=0}^{n-1} PT_l = \frac{1}{3}(PT_{n+4} + PT_{n+3} - 2PT_{n+1} - 2)$$

for any $i = 1, 2, \dots, n$. Then

$$\|C(PT_n)\|_{spec} = \frac{1}{3}(PT_{n+4} + PT_{n+3} - 2PT_{n+1} - 2).$$

□

CONCLUSION 3.1. In this paper we introduced the Pell-Padovan Tetranacci sequence. We obtained Binet-like formula of this sequence. We studied the generating function and partial sum of this sequence. We investigated some interesting identities and examples about this sequence. Also we deduce norms, determinants and eigenvalues of the circulant matrices for the Pell-Padovan Tetranacci sequence.

ACKNOWLEDGEMENT 3.1. The authors thank the referees for their important points to improvement of this paper.

References

- [1] A. Faisant. On the Padovan Sequences, (2019) hal-02131654.
- [2] A. D. Godase and M. B. Dhakne. On the properties of k-Fibonacci and k-Lucas numbers. *Int. J. Adv. Appl. Math. Mech.*, **2**(1)(2014), 100–106.
- [3] T. He, J. H. Liao and P. J. Shiue. Matrix representation of recursive sequences of order 3 and its applications. *J. Math. Res. Appl.*, **38**(3)(2018), 221–235.
- [4] H. Karner, J. C. Schneid and W. Ueberhuber. Spectral decomposition of real circulant matrices. *Linear Algebra Appl.*, **367**(2003), 301–311.
- [5] C. Kızılateş and N. Tuglu. On the norms of geometric and symmetric geometric circulant matrices with the Tribonacci number. *Gazi University Journal of Science*, **31**(2)(2018), 555–567.
- [6] E. G. Kocer. Circulant, negacyclic and semicirculant matrices with the modified Pell, Jacobsthal-Lucas numbers. *Hacet. J. Math. Stat.*, **36**(2)(2007), 133–142.
- [7] A. Özkoç. Some algebraic identities on quadra Fibona-Pell integer sequence. *Adv. Difference Equ.*, **2015**(148)(2015), <https://doi.org/10.1186/s13662-015-0486-7>.
- [8] A. Özkoç, E. Ardiyok. Circulant and negacyclic matrices via Tetranacci numbers. *Honam Math. J.*, **38**(4)(2016), 725–738.
- [9] S. H. J. Petroudi and B. Pirouz. On some properties of (k, h) -Pell sequence and (k, h) -Pell-Lucas sequence. *Int. J. Adv. Appl. Math. Mech.*, **3**(1)(2015), 98–101.

- [10] J. L. Ramírez and V. F. Sirvent. A note on the k -Narayana sequence. *Ann. Math. Inform.*, **45**(1)(2015), 91–105.
- [11] P. Ribenboim. *My Numbers, My Friends, Popular Lectures on Number Theory*. Springer-Verlag, New York, Inc. 2000.
- [12] A. G. Shannon, P. G. Anderson and A. F. Horadam. Properties of Cordonnier, Perrin and Van der Laan numbers. *Int. J. Math. Educ. Sci. Technol.*, **37**(7)(2006), 825–831.
- [13] A. G. Shannon, A. F. Horadam and P. G. Anderson. The auxiliary equation associated with the plastic number. *Notes Number Theory Discrete Math.*, **12**(1)(2006), 1–12.
- [14] S. Q. Shen and J.M. Cen. On the determinants and inverses of circulant matrices with the Fibonacci and Lucas numbers. *Appl. Math. Comput.*, **217**(23)(2011), 9790–9797.
- [15] D. Taşcı and H. Acar. Gaussian tetranacci numbers. *Commun. Math. Appl.*, **8**(3)(2017), 379–386.
- [16] A. Tekcan, A.Özkoç, M. Engür and M.E.Özbek. On algebraic identities on a new integer sequence with four parameters. *Ars Comb.*, **127**(2016), 225–238.
- [17] N. Yılmaz and N. Taskara. Matrix sequences in terms of Padovan and Perrin numbers. *J. Appl. Math.*, Vol. **2013**, Article ID 941673.
- [18] F. Yeşil Baran and T. Yetiş. On the norm of circulant matrices via generalized Tetranacci numbers. *Bilecik Seyh Edebali University Journal of Science*, **6**(2)(2019), 562–572.
- [19] F. Zhang. *Matrix Theory Basic Results and Techniques*. Springer, Media, LLC, 2011.

Received by editors 11.12.2020; Revised version 14.01.2021; Available online 25.01.2021.

DEPARTMENT OF MATHEMATICS, PAYAME NOOR UNIVERSITY, TEHRAN, IRAN
E-mail address: petroudi@pnu.ac.ir

DEPARTMENT OF MATHEMATICS, GUILAN UNIVERSITY, RASHT, IRAN
E-mail address: mpirouz60@yahoo.com

DEPARTMENT OF MATHEMATICS, DÜZCE UNIVERSITY, DÜZCE, TURKEY
E-mail address: arzuozkoc@duzce.edu.tr